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A computer graphics operator should explore _ layouts before selecting the final design.
(A) alternative (B) diminishing © illusive (D) misleading
It is better to be number two in a fast-growing world than number oneina __ one.
(&) blooming (B) democratic (© progressive (D) stagnant
A sense of peace is what mostof uslong _ when we aren’t happy.
A for B to © at (D) about
Though born in an affluent family, shehad __ of those bad habits usually associated with the rich.
A any (B) not © none (D) some
When the doctor arrived, the patient’s __ turned almost paper-white, and purplish bruises appeared all over her
body.
(A) compression (B) complication (© complementation (D) complexion
Children nationwide are __ now, but we still need to do more to provide them with a promising future.
(A) better off (B) at stake © inalump (D) on alert
Floodwaters were __ in most areas, but strong winds continued to lash the coast.
(A) abiding (B) presiding © respiring (D) subsiding
_afraid to be spotted by paparazzi, the movie star took a cab from the side door and disappeared into the
night.
A) As if (B) Unless (© Though (D) Even
To get as much input on the issue as they can, the managing team will send a letterto __ in the company.
(A) who may be concerned (B whoever may be concerned
(© whom it may concern (D whomever it may concern
He spared no trouble to make sure his guests enjoyed themselves.
(A) He made no efforts to entertain his guests. (B) He had a hard time entertaining his guests.
(© He did whatever he could to entertain his guests. (D) He got into trouble entertaining his guests.
Amazon has yet to earn a penny profit. Few people can calculate how its business model will lead to long-term

growth of the stock.

(A) Amazon has earned a great deal of profit, but not many people know how its business model will bring about
continuous rise of the stock price.

(B) Amazon has made some profit, but many people cannot calculate how its long-term stock price will be.

(© Amazon has earned a little profit, but no one can work out how its business model will help any future
development of the company.

(D) Amazon hasn’t made any profit, so hardly can anyone analyze how its business model will continue to make its
stock price higher.
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The Earth’s surface has undergone unprecedented warming over the last century partlcularly over the last two

decades. Astonishingly, every single year since 1992 is in the current list of the 20 warmest years on record. _ 42  Are
humans part of the cause? To answer this question, patterns observed by meteorologists and oceanographers are
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compared with patterns developed using sophisticated models of the Earth’s atmosphere and ocean. By matching the
observed and modeled patterns, scientists can now positively identify the “human fingerprints” associated with the
changes. _ 43  These can be seen in the ocean, in the atmosphere, and at the surface.

In its 2001 report, the Intergovernmental Panel on Climate Change stated, “There is new and stronger evidence that
most of the warming observed over the last 50 years is attributable to human activities.” _ 44 It acts like a blanket
keeping the Earth warm and heating up the surface, ocean, and atmosphere. _ 45  There is no doubt that climate is
influenced by both natural and human factors.

42 (8 Obviously, the natural patterns of climate have been altered.

(B) As a result, current levels of carbon dioxide in the atmosphere are the highest in the last 650,000 years.

(© For example, carbon dioxide from fossil fuel burning has been accumulating in the atmosphere.

(D) The fingerprints that humans have left on the Earth’s climate are turning up in a diverse range of records.

43 (A An increase in global temperatures can in turn cause other changes, including a rising sea level.

(B) As a result, current levels of carbon dioxide in the atmosphere are the highest in the last 650,000 years.

(© For example, carbon dioxide from fossil fuel burning has been accumulating in the atmosphere.

(D) The fingerprints that humans have left on the Earth’s climate are turning up in a diverse range of records.

44 (8 Obviously, the natural patterns of climate have been altered.

(B) An increase in global temperatures can in turn cause other changes, including a rising sea level.

(© For example, carbon dioxide from fossil fuel burning has been accumulating in the atmosphere.

(D) As a result, current levels of carbon dioxide in the atmosphere are the highest in the last 650,000 years.

45 (8 Anincrease in global temperatures can in turn cause other changes, including a rising sea level.

(B) Obviously, the natural patterns of climate have been altered.

(© The fingerprints that humans have left on the Earth’s climate are turning up in a diverse range of records.

(D) As a result, current levels of carbon dioxide in the atmosphere are the highest in the last 650,000 years.
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A Western-style conversation between two people is like a game of tennis. If | introduce a topic, a conversational
ball, I expect you to hit it back. If you agree with me, | don’t expect you simply to agree and do nothing more; | expect
you to add something—a reason for agreeing, another example, or an elaboration to carry the idea further. But | don’t
expect you always to agree. | am just as happy if you question me, or challenge me, or completely disagree with me.
Whether you agree or disagree, your response will return the ball to me.

A Japanese-style conversation, however, is not at all like tennis or volleyball. It is like bowling. You wait for your
turn. And you always know your place in line. It depends on such things as whether you are older or younger, a close
friend or a relative stranger to the previous speaker, in a senior or junior position, and so on.

46  The main purpose of the passageisto

(A) introduce ball games in different cultures (B) compare and contrast different styles of conversation
(© explain how to carry successful conversations (D) describe the Western-style ball games
47  The Japanese-style conversation is comparedto __in the passage.
() tennis (B) baseball © bowling (D) volleyball
48  *..., your response will return the ball to me” meansthat
(4) your response will invite me to say more (B) your response will change my idea
© your response will quiet me down (D) your response will hit me hard

49  According to the passage, which of the following statements is true?
A4 In a Western-style conversation, you wait for your turn.
(B) In a Western-style conversation, you are welcome to ask questions.
© In a Japanese-style conversation, it is unimportant to know your position.
(D) In a Japanese-style conversation, you have to remain silent.
50 _ is NOT expected in a Western-style conversation.
(A) Silence (B) Disagreement © Attention (D Agreement





